
1) 1 ÷ 20 x 14 + 16

Answer: ____________

2) Find the range of the following set of data:

0, 7, 1, 6

Answer: ____________

3) What would you multiply by to 
decrease an amount by 28%?

Answer: ____________

4) Find the percentage change from 2 to 8

Answer: ____________

5) Convert the following fraction into a 
mixed number: 11/6

Answer: ____________

6) Round 16.59214 to the nearest 1000

Answer: ____________

7) $476.00 earning 2% compound 
interest for 2 years.

Answer: ____________

8) 6 - 5

Answer: ____________

9) Find the value of 'x' by completing the 
square of the following equation: 2 + 
8x + 16

Answer: ____________

10) Find the mean of the following set of data:

2, 7

Answer: ____________

11) Find the mean of the following set of data:

2, 7

Answer: ____________

12) Find the median of the following set of data:

25, 20, 23

Answer: ____________

13) $97.00 earning 9% compound 
interest for 10 years.

Answer: ____________

14) 13 ÷ 14 ÷ 10 x 6

Answer: ____________

15) 5.3 + 3.3

Answer: ____________
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16) 5.3 + 3.3

Answer: ____________

17) Find perimeter of 
triangle
a = 8 cm , b = 10 cm

Answer: ____________

18) 6 + 13 ÷ 11 x 17

Answer: ____________

19) Write 10000000 in standard form.

Answer: ____________

20) 6/3 - 3/5

Answer: ____________

21) Find perimeter of 
square having each 
side (s) equals 9 m

Answer: ____________

22) Round 24.192773 to the nearest 100

Answer: ____________

23) 7 - 2

Answer: ____________

24) 7 - 4

Answer: ____________

25) 3 - 0

Answer: ____________

26) Convert the following fraction into a 
mixed number: 11/2

Answer: ____________

27) $455.00 earning 1% compound 
interest for 9 years.

Answer: ____________

28) Find the mean of the following set of data:

4, 0, 3, 10, 8, 5

Answer: ____________

29) 'What is the probability of rolling a 
multiple of 3.when rolling a dice

Answer: ____________

30) $170.00 earning 3% compound 
interest for 5 years.

Answer: ____________

Copyright 2019 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

January 30, 2019

Sr: 30012019-951

 

http://www.geekschool.co.uk


Total: ___ / 30
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Answers:

1) 2) 7 3) 0.72 4) 300% 5) 15/6 6) 16.592 7) $495.23

8) 1 9) (x + 4)2 10) 4.5 11) 4.5 12) 20 13) $229.63 14)

15) 8.6 16) 8.6 17) 28cm 18) 19) 10 x 106 20) 12/5 21) 36m

22) 24.19 23) 5 24) 3 25) 3 26) 51/2 27) $497.63 28) 5

29) 1/3 30) $197.08
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